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1. Options shown in gre

en color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Ql [vzg [T | Pifpe | =T | Fiweema
AT o | %
A 200 150 50 -
B - 200 100 66.6
C 150 50 100 -
D 120 - 90 25

g Ol G fole 0, *1=d A (@ NEFema sreig* =4 [

City | Population | Literate | Illiterate | % of
literates
A 200 150 50 -
B - 200 100 66.6
C 150 50 100 -
D 120 - 90 o]

Ans X180
X 265
K370
v 475

Based on the given data, the percentage of literates in City A is

=

Question ID : 9864494076
Status : Not Answered

Chosen Option : --

Ans Xl- 84
< 2. 56
W 2168
< 4160

Q.2 (B Sent= Wi uft o2 JF2E T s =7

How many times in a week does both the hands of the clock will coincide with each other?

Question ID
Status

Chosen Option :

9864492534
: Answered
3

@ 22 —qq R (i) 2

Reciprocal of 2 %
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Question ID
Status

Chosen Option :

: 9864492582
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Ans
v g1 i
13

3
XZ-ZE
X352

2

3
X43E

Q.4
e €999 (U@ Wﬁq’_ HeHT (A F"Fiﬁb_“[ PP | Question ID : 9864493714
Status : Not Answered

ARET : (FE Chosen Option : --

Select the correct analogous pair from the given alternatives.
Bible : Quran

Ans o CEERRIGR

ST PAAT (1]
.Apple : Orange
3’*-@@ ;AR

vy

<
Temple : Pray
: A
o,
Worship : Place

Q.5 @@ =fewal B T AR SIFALT FERA (©E -8 S O SfeEaE

Cifite @I 36 B SWSTG Rew? Question ID : 9864492271

Which actress won the Kerala State Film Award for best actress in her debut film Status : Not Answered
‘Anuraga Karikkin Vellam®? Chosen Option : --
Ans ;ﬂaﬁfr
r
Parvathy

. SlEl (F99T S5
" Anna Reshma Rajan

S_mﬁﬂrﬁa?ﬁr

o "o
Rajisha Vijayan
ferarT ST

< 4.

Nimisha Sajayan

6
° ﬁ'—lﬂqﬁ Tﬁiﬁ;‘a HE3] &+ 1: Question ID : 9864493097

Status : Not Answered

Syngamy is defined as:

Chosen Option : --

Ane Xlﬂﬁ@@ﬁw

the fission of one egg
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-y 136 B FoE
| the fission of one sperm
v
Srsfera Jer a5a ST [Saeg e
the fusion of one of the sperms with the egg

5 a4
aFHSfE qeg a3t o fafdea e

the fusion of one of the sperms with the synergid

Q.7

2 I3 419 TS 39 ST=eT S T 2250-7 (N6 30 =S

The interest earned on ¥ 2250 at the rate of 3% simple interest per annum for 2 years will
be:

Question ID : 9864492747
Status : Answered

Ans

‘What is the action of dry HCI gas on dry litmus paper?

Ans ,!,‘ 1. F135 Chosen Option : 1
# 2.3202.50
X 3% 67.50
K 4 F 225

Q8 =3Er fAEAIN SR S7F 8% SZGHaT ST AfelFEan & 2@?

Question ID : 9864493467
Status : Answered
Chosen Option :1

< el felBIR (17 e e 2]
Blue litmus paper turns red.

Xzﬁhﬁﬁwwﬂﬁ S T I

Blue litmus paper turns white.
W
T T A R R SInE @ AFETeT F@ Il

Blue or red litmus paper does not change its colour.

| T BT ¢ A Afrre =3
Red litmus paper turns blue.

x

Q.9

Ans

2018-F 11 SFMIE AF61 TedE| 2019 W& 11 83 F1 97 2@
11 January 2018 is a Thursday. On which day will 11 June 2019 fall?

(A4

Question ID : 9864492793
Status : Answered
Chosen Option : 4

1.
Monday

EIESIE

| Sunday
HHATH

Tuesday
JHATE

| Wednesday

p )
W3

p

Q.10
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AT g wmsfE AT SImgE asfT I S BT FLIS TEET TeeT T Status : Not Answered
TS [HAE 2 Chosen Option : --
The ratio of the areas of a square and a regular hexagon, both inscribed in a circle is?

ms X121 3

X23J3:2
X31:43
vig: 33

Q.11 =B (TP AW AL RN [NFA: F(9),P(15),CI(17),Ar(18) | faleifde . _
Cilife=s MIE (1 G ARSI SHET 242 Question ID : 9864493594

Atomic numbers of four elements are as follows: F(9), P(15), CI(17), Ar(18). Which of the Status : Answered
following two elements would be chemically similar? Chosen Option : 1

Ans v F s C
F and Cl
, PARF
Fand P
. Clé<as P
Cland P
Ard<ds F
" Fand Ar

x

x

Q.12 azsw =Mfe 9%t afeghe & o FEF, “SF SFE TRTrNE A7 aFAE . _
A | AMeghe @ VF AR T 9% Tfew T F oo e Question ID : 9864494216

A man looks at a portrait and says, “She is my Father-in-law’s only grand-daughter”. How Status : Not Answered

is the girl in the portrait related to this man’s wife? Chosen Option : --

Ans GIE]
b

Sister
DAY

2.
Daughter

B2 ?il

Niece

5 a Rl
Mother

5 3

Q13 2018 7 (v@WAl S T GhlE ASNeE AT P SaAd Wil (@7

Question ID : 9864492227
Who is the Human Resource Development Minister in Prime Minister Modi’s cabinet as
of February 20182 Status : Not Answered

Ans W S Chosen Option : --
X1

Jual Oram
x5 ET Y
Suresh Prabhu
Vs TPTT SMS(FPTH
Prakash Javadekar
o T ST
Maneka Gandhi
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¢ JHT @ Grg® SRR Afef G

The most reactive of the following metals is:

Question ID : 9864493071
Status : Not Answered
Chosen Option : --

Ans « 1. Ca
< 2 Al
< 3 Ni
# 4 Pb

Q.15 g (AP TYN 6 T B 2,90 [[(oRle wifesry blet s
g% SOA1 YT FE [WEEH:

‘When a bullet is fired from a gun, the gun moves in the opposite direction. This illustrates
Newton’s:

Question ID : 9864493540
Status : Answered
Chosen Option : 2

Ane o, SR a3 O A 3=

first and second law of motion
, g 3% g

third law of motion
» , TGO M g

second law of motion
, 2R S 554

first law of motion

v

x

Q.16

Question ID : 9864493656
Status : Answered
Chosen Option : 2
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fatea foafb vEh Ged Brad 9Hhre Fi+e 2yl BHEd 29 feraq
qraerprdl SdF valo 2,

Problem Figure

Answer Figures

VAN

A B c D

The below figure is embedded in one of the four answer figures. the correct figure
containing the above problem figure is:

Problem Figure
Answer Figures
A B c D
Ans X1 B

K2cC
K3 A
v 4D

Q.17 mwg ==ft @ Fa 992 57 T (@ 93 909 TaF (MSTF Oen erEfeifine

@@ el T@g)

15 T SIFRTAT 2017 (® X 97 T4 6 foem?

Question ID : 9864494052
Status : Not Answered
Chosen Option : --

ﬁﬂl\s:
1. X O R Y 98 (4@ 50 T 93|

2. Y ©F JIEE (4@ 20 T (26|

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How old was X on 15 January 20177

Statements:

1. X is 50 years older than his brother Y.
2. Y is 20 years younger than this mother.

Ans x 1.
%G A GO B a3 f43fe 2 i oiF F5fs 1 a3 s R

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

file:///sysroot/home/user/Downloads/Qp%20(7).html

6/26


career.aglasem.com/railway/
https://aglasem.com/
https://career.aglasem.com/

9/14/2018 Qp (7).html

& 2
4g ST Sod [2NTE oo 3316 1 ¢ fAgfe 2 fm)

Both land 2 are sufficient to answer the given question.

3.
ﬁmh%@ﬂ@%ﬁ%lmwﬁqﬁz a7 =T
1 alone is sufficient while 2 alone is not sufficient to answer the given question.
v
=g A Sod BE 45w 1 313516 2 @FF6R R a7

Neither 1nor 2 is sufficient to answer the given question.

Q.18 fmfafire wWer (T SFely TAMEY (FFAFs) e a1 @ET 2017 I
e A A e e ?

‘Who among the following is an Indian gymnast who received the prestigious Padma Shri
Award in 2017 by the Government of India?

Question ID : 9864492379
Status : Answered
Chosen Option : 3

Ane v o T
Dipa Karmakar

Zlﬁﬂﬁﬁﬂﬂ%‘ﬂf

Koneru Hampy

x 3 LI GRS
Sakshi Malik

o ffe g
PV Sindhu

~x

Q.19

Question ID : 9864494135
Status : Answered
Chosen Option :1
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e (o fbg SRl 999 (EmE WA TE SRS T SIFE eS|
=

[0 —— Boy= () ——s  Afhletics

A e cane [ ] ———s  Disciplined

(R(TAT — Boys

(IET — Girls
ﬁl?ﬁﬂ?ﬁl@ — Disciplined
SEEBF - Athletic

According to the given Venn diagram, the number of boys who are neither athletes nor
disciplined is .

[0 —— Boye () ——  Athletics

N —— Guls [] ——= Disciplined

Ans (1 7
v 210
< 31
<41

Q-20 1w G AW fof~ SR TR SIS {77 2 - 7 9 FRreramy xm-
AT G SRS (614 (151 S (61 S TR SIS 2 ;5 —4 (W0 S| O
AT FobI B (191 B foe?

The initial ratio of sugar to flour in a dough was 2 : 7. To 9 kg of the dough John added
more sugar to make the sugar to flour ratio 2 : 5. How much sugar did John later add?

Question ID : 9864492745
Status : Not Answered
Chosen Option : --

Ans
1 750 3T
750 g
12 GAGI IR
1.2kg
. fRetTarsy
1kg
- 800 AT
800 g

v

x

Q.21 5 fiTEa T% A6 ABHeE I (e, 956 BIeAEA Gafe (@ 30°1 A4 BreT@fs
CIF 4043 BT 7@ avewsfit e 23, S1ew breTmAfh Fe6l 7

From the top of a platform 5 m high, the angle of elevation of a tower was 30°. If the
platform was positioned 40+/3 m away from the tower, how tall was the tower?

Question ID : 9864492697
Status : Not Answered
Chosen Option : --

Ans

file:///sysroot/home/user/Downloads/Qp%20(7).html
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¢1.45’rﬂ1‘3‘m" .
45 m

) 30+/3 FBIE

3043 m
x5 40 GG
40 m

X 2043 G

2043 m

x

x

Q.22 iz T o
(T @S WPe IR FAT 27 Question ID : 9864493525
Which of the following instruments is used to measure electric current? Status : Answered

Ans . W@Wﬁﬁﬁ Chosen Option : 2
XL )

Galvanometer
vz NG
Ammeter
[BIRIERT
Rheostat
(SIGIRGE

Voltmeter

< 3.

<A

Q.23 a6 *f3 ST 4 kHz [EF(HICAM a98 40 CIFBAGIAT TH6 SIHAH

R 3.2 [SFEAMNGR 7Hy WioFy F9 G *70 9% 3[0 2w 50y Question ID : 9864493284
- Status : Not Answered

A sound wave has a frequency of 4 kHz and a wavelength of 40 cm. The time taken by the Chosen Option : --
sound wave to travel a distance of 3.2 km is:

Ans X' 1.0.5 s
<240 s
v:2.0s
X 41.0 s

Q.24 ofty wwg ST TerEs AN dE (N, O TR ST, TR 1, .
2, 3. F (WaAT T 7W, ©RE relE awmEa kv aEefe cmm Question ID : 9864494022
&l Status : Not Answered

Chosen Option : --

R+JM2$#QR? *O@7F3

If each term in the given sequence is assigned number 1, 2, 3... according to their position
from the left, then the sum of the numerical values of the positions of the symbols will be

R+TM2$#QR*O@TF3

Ans X148
W 2 49
<344
< 451

Q.25 [

Question ID : 9864492796 ]
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AW3x® - ax + 6 = ax® + 2x + 2 DLW AF6 (TAAGO) TN AF,ORE a-98
2775 HSamF AT T T

integral solution of a is:

Ans X13
V22
<34
X5

If3x% - ax + 6 = ax® + 2x + 2 has only one (repeated) solution, then the positive

Status : Not Answered
Chosen Option : --

PICATRF?
Problem Figure
A
% : . E
B
Answer Figures

® 99/

® [ ]
A B C o]

Problem Figure
A

% D . E
B
Answer Figures

V)

° [ ]
B [+ D

Ans «1A
Xa2C
X3B
< 4D

Q.26 frea gfqwfera WEy (FWG o forad 3e 7 Afefa 7= w={af® AB @41F

Choose the correct mirror image of the problem figure when the mirror is held at AB line:

Question ID : 9864493688
Status : Answered
Chosen Option : 1

Q.27 g aft 15T 92 P 57 @ Te! (F1F S (3D 7B

BfF 1: TomeT TG (BRI 9T ST e 7@ 91 e T T3]
Bf%F 2: TIffFerE Farm e FEE *Fw 71

Read the given question and decide which of the following argument(s) is/are strong.
Question: Should you work hard till you make your signature into an autograph?

Argument 1: Work until you no longer have to introduce yourself.
Argument 2: Work hard to become financially secure.

Ans " (FEE Bf e 1 Al

Only argument 1 is strong.
| T 1 93¢ 2 TowR wfe)

Both arguments 1 and 2 are strong.

. St 1 3PET 2 (FT2 St 77|
Neither argument 1 nor 2 is strong.

x

x

file:///sysroot/home/user/Downloads/Qp%20(7).html

T 956 SIESEA e ST T Fte A= 7T (& SN SO A 547 Siow?

23

Question ID : 9864494244
Status : Not Answered
Chosen Option : --
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Only argument 2 is strong.

~x

Qp (7).html

Q28 (-8)[36 + (7~ (-2))] + (- H{19- (-3) x (-5)) =?
-8 [36 + {7- (-2)}] + (- H{19- (-3) x (-5} =7
Ans « 1. 2

X2 _4
X34
X4 _2

Question ID : 9864492919
Status : Not Answered
Chosen Option : --

Q-29 7013 ST (FITF WTAH SBAF HECGGIFFH WA TF HETR
(ROeEfG.gmR) 528 (@2

Who is the CEO of the Unique Identification Authority of India (UIDAI) as of February
20182

e I T
Anil Dhasmana
x5 T B
Nandan Nilekani
x 5, DG (TS
Ajit Doval
- BNGEH o AN
| Ajay Bhushan Pandey

Question ID : 9864492405
Status : Not Answered
Chosen Option : --

30 sz Sifae (e s fEaft s s

FJ['JI-"ﬂE__-m‘

Select the odd figure out of the following figure series.

C I JIC VL[]

(b) (<) (0] (e)

Ans X 1. (ﬂ)
v (d)
X2 (b)
< 4 (c)

Question ID : 9864494186
Status : Answered
Chosen Option : 2

Q.31 +#fy AET @ ©F 799 NIl T, IIW WG] ST IIH TS S0
wanfef @

His greatest achievement in the field of religious reform was the setting up of the Brahmo
Sabha and the Brahmo Samaj. Who is he?

Ans FST AEERS F93
1.
Raja Ram Mohan Roy

file:///sysroot/home/user/Downloads/Qp%20(7).html
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Status : Answered
Chosen Option : 2
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TH W g6
Swami Dayananda Saraswati

, T8 s

Swami Vivekananda

TR SRS AR SEREE
Dr. Bhimrao Ramji Ambedkar

p )

X 4

Q-32 Hipa foaft vElt Sowa fiastm JsfbE WIE F41 TWRIEH SoEd B
sty foaft wew?

Problem Figure

Question ID : 9864493747
Status : Not Answered
Chosen Option : --

E

Answer Figums

J’AV

?APA

D

Problem Figures- 9 ‘Eﬁ,
Answer Figure - Bad =+

The below figure is embedded in one of the four answer figures. Which of the figures
contain the below problem figure?

Problem Figure

/]

Answer Figures

O | P Vi
DX !A\r

Ans «1-0
< 2D
<A
< 4B

AL‘

Q.33 mug fgfesf ey aE [AEed s a9z awe Fgfesl (e wwe FamEs
@At ffreerm FET a1 (e "mF e f5F FF9

Question ID : 9864493985
Status : Answered
Chosen Option : 1

fagfs:
@fraesr SIRASIR At g wter m

fra1s:
1. g A1 e =fEe)
2. fFg ARSI 2w A

Consider the given statements to be true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:

Most lawyers are females. Some females are mothers.

Conclusions:

1. Some mothers are females.
2. Some lawyers are mothers.

file:///sysroot/home/user/Downloads/Qp%20(7).html
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Ans oo 1T 2 SO TET FE|
Both 1 and 2 follow.
x> Tl 2 (FIEG2 SEET FE
Nether 1 nor 2 follows.
 , ST fa| 2 ST FE|
Only conclusion 2 follows.
g 2T & 1 SeET S|
Only conclusion 1 follows.
Q34 g =maf s P g Fim B G Sad fie e RgfesRm we

@FEG AT

AT AT Po?

e

1. FANTT A P (@E 20 I2F I
2. T B FAEH (FF 3 T (U6

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How old is Mrinal?

Statements:

1. Mrinal’s mother is 20 years older than him.
2. Mrinal’s brother is 3 years younger than him.

Question ID : 9864494228
Status : Answered
Chosen Option : 3

file:///sysroot/home/user/Downloads/Qp%20(7).html

Ans X 1.
HEF BB WA G [ 1 8 [96 2 alde w0 crfiy, g
@ [4gfo av% F7 g <1
Both statements taken together are sufficient to answer the question, but neither statement
alone is sufficient.
~< 2.
3E TBd AW G ([9gfe 2 ey f[eqg G [gio 1 orEfies wEl
Statement 2 alone is sufficient but statement 1 alone is not sufficient to answer the
question.
¥ )
ToF [{G© 1 8 2 (MO *HF W, g9 A% ATNA GO AN FAO
e, WOHe ST ANGH 2
Statements 1 and 2 together are not sufficient, and additional data is needed to answer the
question.
p
AR Ged AW GAT 990 1 iy (e Ol [{9fe 2 i w9
Statement 1 alone is sufficient but statement 2 alone is not sufficient to answer the
question.
Q.35 f&aft A 51T 2ET 61 T God T8 59 (0 Yiod TG IEW 81 AN i .
fomfe =rmn: Question ID : 9864492738
The average of three numbers is 6. The average of the first two is 5 while the average of Status : Not Answered
the last two is §. The three numbers are: Chosen Option : --
Ans
W 128,38
X 23,7,8
X 32,6,10
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X 42,79
.36
Q36 (e TG A0S T T ST (b (0 foreT | Question ID : 9864494264
Status : Answered
Chosen Option : 2
(TS : BIE (TSI

Select the word pair that is analogous to the given word pair.

Horse : Pony

Ans A Pl
~< L B
Son : Daughter

v O THEG
Insect : Larva

5 oty ; afFat

Stag : Doe
XAﬁﬂﬁmﬁtﬁWﬁ

Drone : Bee

x

Q.37 BiHE TARD a6 IAFA GG e L AT

S 3T 300 | 82 Question ID : 9864493119
HAfANF ST =4
The weight of a boy on the surface of the moon is 300 N. The weight of the same boy on
the surface of the earth will be: Chosen Option : 4

" . 50 GG

50N

« , 300 {06

300N

XaS[iﬁ“
SN

1800 fAoGA

1800 N

Status : Answered

v

Q.38 fagfaifie foaft toff ware ww oy STHET (R SCAG?
3 (BB ol A 2eT PN PO e (T Question ID : 9864493896

Status : Answered

Chosen Option : 3

1
LI

‘What is the minimum number of straight lines required to construct the following figure?

|
L1

Ans Xl-]z
<211

file:///sysroot/home/user/Downloads/Qp%20(7).html
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V313
X414

39 _
Q ;cj?v* 0 AR A AT G T I-8107 SEthe| A% Far g A Question ID : 9864492134

Kolleru Lake, located in the southern state of Andhra Pradesh, is located at the delta of Status : Answered
two rivers. Which are the rivers? Chosen Option : 4

wiehl J9R baldel
Tungabhadra and Chitravathi
| O 9 P31

Godavari and Krishna

x5, CTIRAN 938 st
Godavari and Mahanadi

FIT 9T FEE
Krishna and Cauvery

Ans

b

v

& 4.

N Crfafie @@t a3t (GO (e a7g? ‘ Question ID ; 9864493586

Which of the following is NOT a radioactive element? Status :Not Answered

Ans L | Chosen Option : -
~< L FCITAT

Plutonium

BERIERIE]

Y &)

Titaninm
2O

Uranium

~ 3.

Question ID : 9864494229
Status : Answered
Chosen Option : 2
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Q.42 waar 956 WfAte 90 aM® @WF X 97 T3 GRbd (6T 17 ©F 998 Y
A7 TEME (NF 14 ©F| A% ©Fl emd SEE AETed BE, ©EE X A7
SAEE 9RGE (FF 7 ©F E| He Food =@ aEa?

Students are sitting in a row in which the position of X is 17th from the left and that of Y
is 14th from the right. If they interchange their positions, 3’s position becomes 7th from

Question ID : 9864494124
Status : Not Answered
Chosen Option : --

the left. How many students are there in the row?

Ans of 1.20
<219
<321
K422

Q43 o 513 fBafB 2ratars fozte AfoRIHre S ol (@0 =]

Question ID : 9864493867
Status : Not Answered
Chosen Option : --

Problem Figure
l
- €
Answer Figures
I
1 2 3 4
Choose the correct figure that replaces the question mark.
Problem Figure
I
- ?
Answer Figures

1

Ans 1 q
x22
V3
Ko

=]
[
o

Q.44 (
file:///sysroot/home/user/Downloads/Qp%20(7).html
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g ST fEaft (@1 A5G Sod o i Far sl o1 Sad foaft (@mit? Question ID : 9864494056
Status : Answered

Chosen Option : 2
Problem Figure

> <

Answer Figures
A B C D

A = - Problem Figure, 5aa =i - Answer Figure

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

> <

Answer Figures

=[gele
Ans 31 D
v 2B

<3 A
XacC

45
Q BEIGIE) Elﬁhaﬁ @FEG D ? Question ID : 9864493608

Which of the following statements is INCORRECT? Status :Not Answered

Ans «l.
TFT ] G SE3E aEE|

The particles of matter are in stationary state.
, TIT FU 9o (k|
The particles of matter are extremely small.

TET I AF ATEE ABHT FE|
The particles of matter attract each other.

X 4
JEA PEAT H{EY T FH SR

The particles of matter have spaces between them.

Chosen Option : --

x

p )

46
° PIE AR ﬁ’q L Question ID : 9864493169

Status : Not Answered

Aqueous solution of copper sulphate: Chosen Option

Ans
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Xlﬁt‘&rﬁr @ Tolfde FE =
does not affects litmus
v, AT BT (& #TRT P

turns blue litmus red
5 3.
A AR Al oA e (@ Telde 5|
affects both red and blue litmus.

s o T TEB3TT (& AT e

turns red litmus blue

Q.47 @/ Tre SeTTel 2016 TN HAIN WASTEA SEH (TF o6 (O (RN , _
(I o/ by SRS (BT ) TG e ? Question ID : 98682283

‘Which Indian actor won the Ordre des Arts et des Lettres (Order of Arts and Letters) from Status : Answered
the French Government in 20167 Chosen Option : 1

Ans Wﬂ- &5 —
b
Anupam Kher

AR SFIE
Nana Patekar
x s ANSS T6
Amitabh Bachchan
. P A
Kamal Hassan

>~ 2

Q.48 goifl (AfFAIBAF) NFaE | x? —ax+b(® B T 3 99 4, GEE ‘@’
BT T T 5"

If the zeroes of the polynomial x* — ax + b are 3 and 4, then “a’ and “b’ are respectively

Question ID : 9864492535
Status : Not Answered

equal to Chosen Option : --
Ans X 1. 12’?
X 23,4
K34, 3
a7, 12
U sfer Siea TeASf TETE eS| Question 1D : 9864493078
Status : Answered
A IECICRE] Chosen Option : 3
B faftesy =@ o (fAETSTite RCIETE= )
C TPes fdma
D BB

Arrange the following in a proper sequence.

A Mutation

B  Reproductive isolation
C  Natural selection

D  Evolution

ans X1 D, C, B, A
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v2A, B, C, D
X3C, B, A, D
X4+A, C, D, B
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Q.50 {351 A *M=(F <R #FT B *FE0F T B0 | OF AT S M A2 ST
ERBE AT ST B Ol A1 *[F B0 | A SRS (RIS (R4 =3
A2 T IR AT I AR TeTs Y (Ml 28 4, O ok
STBAELE (RIS 13.5 TG TN SIS (TLACH AT [HBIUAR *1=R (g 6
BT 577 #1057 | W% (BT 30 RECeTNGR/<0T (JU51 W S0 O AL
MSLI Fo?

Peter belongs to Town A and Paul belongs to Town B. They start their journeys towards
each other’s towns following the same route at the same time. They meet somewhere on
the way and continue with their journeys. After meeting Paul, Peter takes another 13.5
hours to reach his destination while Paul takes another 6 hours to reach Peter’s town. If
Peter travelled at the speed of 30 km/h, what was Paunl’s speed in km/h?

Ans X 1.425
< 2.40
v 45
K 4475

Question ID
Status
Chosen Option

9864492930
:Not Answered

Q5119 x 23 = 437. B2 190 X 0.023 =?
19 X 23 = 437. Then 190 x 0.023 =?
Ans 10,0437
X 2.0.437
X 3437
2437

Question ID
Status
Chosen Option

19864492680
: Answered
4

Q.52 fimfifie St a9 T, 06 [HPesfTT (@@l SFE Ssfe a7 ©f forfmd Tl

RB75E%M3W48Q9#B2ASMS

Using the following sequence, determine which of the given options does not belong to
the group.

RB75E%M3W48Q9%#B2ASMS
ans X1 B%4
X > REW
vz 4#M
X +3Q2

Question ID
Status
Chosen Option

19864493929
: Answered
:3

Q.53 4ft Sy S 0.3241 Cifed Ny A%6 1.2 36 o AWt Fe?

The product of two numbers is 0.324. One of the numbers is 1.2. What is the other
number?

Ans X'1.2.7
v 20.27
X 30.027
X427

Question ID
Status

Chosen Option :

: 9864492660
: Answered
2

Q.54 rFms! SEEIT SEYT I SAF H ($ (COb DIF T AGUE
( asTf=n?) (BT AT e e ?

‘Who has been appointed as the Chairman of the State Bank of India (SBI) after Arundhati
Bhattacharya retired?

Ans

file:///sysroot/home/user/Downloads/Qp%20(7).html

Question ID
Status

Chosen Option :

: 9864492224
:Not Answered
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1 ST 4=
Kishor Kharat
A P
Rana Kapoor

(@ (SdoauT
K Venkataraman

O AT

Rajnish Kumar

< 2

& 3.

v

Q.55

Ans

1
9t ®re P am B A% (eFd T (WPFH FB) waw e 375 RAE aw

ARG o 1 e BFeR oo B el w30 B wm ama
e Bt (¢ 9w ffG T Afw F@ e =

Two valves P and B can fill a sump in 37 % minutes and 45 minutes respectively. Both

valves are opened. The sump will be filled in just 30 minutes, if valve B is turned off after:

5 ffe
5 min
x5 6 BIEE
6 min
v 2 BIEID
O min
x4 10 BB

10 min

x

Question ID : 9864492472
Status : Not Answered
Chosen Option : --

—_—— ————

Q.56

Ans

i fEG @@ e a9 i FF9 (7 93 aE Son (ol O SEeiEe

@@ el Tag)

50 QW ALl FIE T (0F x-a7 I 2

fagfs:
1. Y-a9 6 X-99 (@ 4 I AE a9 & (0F 3099]
2. Z-33 A X-AF CNF 2 I OFF A% fawd OF (@F 3299 |

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is Xs rank from the top in a class of 50 students?

Statements:
1. Y’srank is 4 ranks below that of X and 30th from the bottom.
2. Z’srank is 2 ranks above that of X and 32nd from the bottom.

r
Twe AEF Sod e 2 AFR IWE, IMS 1 AF IE T

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

Y &)
e AEF Bod e 1 Fatel 2 TEE)

Either 1 or 2 is sufficient to answer the given question.

< 3.
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Question ID : 9864493956
Status : Not Answered
Chosen Option : --
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Tha IEE bod e 1 8 2 bedR AT

Both 1 and 2 are sufficient to answer the given question.

<A
T3 AEA Ood M@ 1 4917 TE, IW3 2 AF IWE 74|

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

Q.57

?If':_l secO + tan @ = 4, 9 secd - tand =7 Question ID : 9864492978

Status : Not Answered
Ifsec® + tan @ = 4,thensecf- tanf =7 _
Chosen Option : --

Ans X 1.1
< 2.0.75
v'3.0.25
X 405
Q.58 3fy qoff TTed @ ©F AREF @UF Gy =@, o1 Hfosfs == o

Question ID : 9864493201
Status : Not Answered

AEEF AMoFT n @ ([0S IF n g9 T F?

If the velocity of a body becomes two times its initial velocity, its kinetic energy becomes
n times its initial kinetic energy. What is the value of n? Chosen Option : --

X113 | - |

Ans

Ans
V24
1
3. —
X 2
K16
Q.59 =wg B G AT T TS HRE o

33T TG GOl TSTTT Ty Q236 TR (T5TO] ST Tefy [P EE TSSf 7T Question ID : 9864494143
FEE| Status : Answered

1. =9 R SR, AR o T R s 500 d9s G 1 12 Chosen Option :1

AT FH(® 7|
2. 31-03-2018 I G 21N ST 17 I T4 1 Fefto 2|

3. PN S 3T 12-9 Siafaear, a8 S Fen fete $am =)

AT 12 TICTT ST Ol T714-05-2001, 3F 3 Sifef, TorEesm, T ¢ S
40% T (AT

AT 2: AT SN Ol T16-08-2000, 31T 8 Sifea, T~ T & THEE 60%
T (|

ATREG TSR A S (T (2
Read the given information and decide the appropriate course of action.

NEET examination has laid the following conditions to qualify for appearance in the
NEET Exam.
1. Candidate should pass Grade 12 with a minimum of 50% marks in Biology, Physics
and Chemistry group.
2. Candidate should have completed 17 years as on 31-03-2018.
3. Candidate should have opted for Biology, Physics and Chemistry in Grade 12.

Candidate 1: Ram’s date of birth is 14-05-2001, with 40% marks in Mathematics, Physics,
Chemistry and Biology.

Candidate 2: Sham’s date of birth is 16-08-2000, with 60% marks in Biology, Physics and
Chemistry.
‘Who is eligible to write the NEET Exam?

v T =7 2 ST
Only candidate 2 is eligible.
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, Tow e 1 8 = 2 )
Both candidate 1 and 2 are eligible.

| S 1A 2 (SR QT |
Neither candidate 1 nor 2 is eligible.

;I R 1 S|
Only candidate 1 is eligible.

x

x

Qp (7).html

Q.60 45{% o= AT, WHerE S 200 (FN A6 TG G SIS F=eT| BI2E STe AR
23 Afefene AfTa 5y (@b 7 I

An incident ray strikes a plane mirror at an angle of 20° with the mirror. The angle
between the incident ray and reflected ray is

Ans x 1. 5(}0
v 2 140°
X 3 40°
X 4200

Question ID : 9864493623
Status : Answered
Chosen Option : 3

Q.61 13t 7w Twel (¥F ToE vF ffeifs am safefeafm o & F 967

‘What happens to the Potential and Kinetic energies of a body as it falls down from a
height?

Ans S 9
eld Ffedfe am «fedfs, yoEs zm &l

Its Potential and Kinetic energies decrease.

7~ 2
o fferfes e = o sfexfea a2

Its Potential energy increases while its Kinetic energy decreases.

5 3
oF fiferfes m sferfe, Soma wem @@ Afdasa =
There is no change in its Potential or Kinetic energy.

v
a7 Fferfe 20 =W 9 sfevfes gfa =6

Its Potential energy decreases while its Kinetic energy increases.

Question ID : 9864493382
Status : Answered
Chosen Option : 4

Q62 ffafie Toma Wy @FMG FANPT FofF s@ofe 777
Which of the following animals do NOT belong to the class of reptiles?

Ans PE
r
Turtle

Xz.ﬁa

Crocodile
Vs (%
Toad

x4 HH
Snake

Question ID : 9864493515
Status : Answered
Chosen Option : 1

Q.63
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The number of neutrons present in a nitrogen atom is

Ans 31 [
< 214
a7
<4

Qp (7).html

P06 AERHUGN AFAYS (T SRF [NOGN U, OrEe [ Status : Answered

Chosen Option : 2

Q.64 spifeiw ~nfEr WIFdlte, Gi@sfm Fmm o, S

In the Modern Periodic Table, elements are arranged in:

Ans o TENEET SDRATE IR

decreasing atomic mass number

; S AR o

increasing atomic mass number
TEAEEE RAE i
3.

increasing atomic number

TGS TATF ZHEfE

decreasing atomic number

v

>~ 4

e

ok
FEAGT FAFE A (B FaRE sPESIE HiEg]

ToF:

Argument:
Use of cell phone is strictly prohibited on the college premises.

Assumptions:

2. No student is allowed to use a phone on college premises.
Ans
x SHH @ed 1 39 oEffte
1.

Only assumption 1 is implicit
<
Neither 1 nor 2 is implicit
v, 2T & 2 T SEERe

| Only assumption 2 is implicit
. T8 1 9w 2 = SREfifte
Both 1 and 2 are implicit

Q.65 T#ft RAEEA 737 am Mo FH wIG/af wmiEe o frfEr FE[

213{@2%@&@@%‘%@

Question ID : 9864493553
Status : Answered
Chosen Option : 3

|

Question ID : 9864493695
Status : Answered

Chosen Option : 3

1. (7 A FES AEE @9 TE0E F9E OInE FOE MG (G3I @l
2. (B RIS FEG AE (WF F92E A @ﬂ;ﬂi\s (3T (R

Consider the argument and decide which of the given assumptions is/are implicit.

1. Students using phones on the college premises will be strictly punished.

BT W = F97

interest per annum?
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Q.66 1000 GrEl fod 9209 (AU =T T1331 U bpgia 2E O 9F

If sum of T 1000 amount to T 1331 in 3 years, compounded annually. Then, find rate of

Question ID : 9864492566
Status : Not Answered
Chosen Option : --
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Ans X' 1. 20%
< 2.15%
W 2 10%
< 4. 30%

Q67 @z U *1=e V-1 S At o f6h e sz
*=d W 1= U-F AiEee Mt il e weEs|
12 X *129 - ARG 36 e wiEe|
12 Y *129 X-9 Gad M 5 17 wkiEe|
129 Z *129 X-F W3 i< 760 nig wkige|

2T WYY (PN JH0 AT BHNG SFo?

City U is 9 km towards the east of City V.
City W is 5 km towards the south of City U.
City X is 3 km towards the west of City W.
City Y is 5 km towards the north of City X.
City Z is 7 km towards the south of City X.

‘Which of the cities lie on a straight line?
Ans X 1. UXZ
< 2 YWU
W 3 XZY
<4 UVW

Question ID : 9864494037
Status : Not Answered
Chosen Option : --

Q68 250-F 38% 3(I:
38% of 250 is equal to:
Ans X 1. 76
v 2 95
< 3.104.5
K 4114

Question ID : 9864492726
Status : Answered
Chosen Option : 2

Q.69 50157 ®FTO WZG (FAN INFISIOIR $128-7 Wiy & axd
PLARA?
‘Who took over as the new CEO of IT giant Infosys at the beginning of 20187

Ans
5, G RIS

Rohan Murthy
x > EEEIREEIT
| Raghuram Rajan

o o ST STEy
Salil Parekh

4. SRIELE
Vishal Sikka

x

Question ID : 9864492258
Status : Not Answered
Chosen Option : --

Q.70
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foafafrec T EE F5: Status : Answered

Chosen Option : 1

24 = (20-12 -3 x 8= 7

Solve the following:

24 = (20-12 -3 x 8) =7
Ans \’1.— 2

K2—3

< 3.

3
<46

Q.71 - TR SR
2017 T (PTY IO (TS F6PT S Question ID : 9864492300
BHICICS Rod wtese

Which Indian player won the Yonex US Open Badminton Tournament in 2017?

Ans Xlﬂ_ﬁh{ ‘q’iﬁ

Sameer Varma
v AZGAS 2
HS Prannoy
; WG G
' Ajay Jayaram
x , AerE fErEl

Srikanth Kidambi

Status : Not Answered

Chosen Option : --

x

7236, 72 AR 126 AL 1.8 97 Question ID : 9864493023
‘What is the HCF of 36, 72 and 1267 Status : Answered

Ans  of 118 Chosen Option :1
X 236
<39
X 412

Q.73 fofeife fifas, =121 fow (2) a1 (e a3f6 s srpifie| aus (39 i spitie
I =6 e |

Question ID :9864494173
Status : Answered
8.12.16.20.2

In the following series, one number is missing as shown by the question mark (?). Select
the missing number from the given options.

Chosen Option :1

8,12, 16,20,?
Ans J 124
<222
<332
X 426

Q.74

Question ID : 9864493456
Status : Answered
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Tfen wIeTa fite (0 I ST WSS oI [ Chosen Option :1

s [AMIGI A ((GRFGHH) |G

Plants bend towards light due to the diffusion of the hormone on
the other side of the shoot.

(1.@@7‘[

auxin

STRIGIFIR

cytokinin

x 5 AMESTE BTG

abscisic acid

CERIGIED

 gibberellin

7~ 2

b

Q.75

Ans

@S ﬂ@%ﬁﬂ AEF (FEIG 1?EILII”I‘-‘EFT Ellt'ﬂiﬁlﬂ 7 Question ID : 9864493392

. . . Status : Answered
Which of the following metals is the most Malleable? :
Chosen Option : 2

< 1 Ag . -
< 2 Al
+ 2 Na
< 4 Zn
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